ﬁag g)éts

Send your Feedback to vidya@sakshi.com

OIS | DHEDTO |
Qdo06113 12019

how many digits will appear twice in...

Y. Arunveera Kumar

@

Subject Expert
E‘-- IACE
MODEL QUESTIONS

Directions (Q.No.1-5): Read the
Jfollowing information carefully and
answer the questions given below:

There are total ten persons
divided in two groups. In each group
there 1s equal number of person.
They sit in two parallel rows. One
group faces north while other group
faces south in such a manner that
each member of group one faces
other member of group two. In group
1- there are five persons N1, N2, N3,
N4 and N5 and all of them facing
towards north direction. In group2-

and S5 and all of them facing south
direction. All of them like different
colour like Pink, Red, Blue, Black,
White, Green, Yellow, Violet, Brown
and Orange but not necessarily in the
same order.

S1 sits third to right of S2.
Immediate neighbor of S2 faces the
person who likes pink colour. There
are gap of two persons between the
one who likes pink and the one who
likes red colour. There is only one
person between S3 and S4. Neither
S3 nor S5 face the person who likes
red colour. Immediate neighbor of S1
faces the person who like blue
colour. N5 likes blue colour. There is
only one person between N5 and the
one who like Black colour. The one
who likes white colour faces the one
who likes the green colour. There are
gap of two persons between the one
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likes yellow colour. The one who
likes the violet colour 1s not
immediate neighbour of one who
likes white colour. N1 likes red
colour and sits third to left of N4. N2
does not like black colour. S3 likes
brown colour.

1. Who among the following sits at

the corner?

there are five persons S1, S2, S3, S4 = who likes the white and the one who a) N1, S2 b)N1, N4
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c)S1, N1 d)N4, S2
e) None of these
2. Who sits third to right S5?
a) The one who likes orange
colour.
b) The one who likes yellow
colour.
c) The one who Ilikes violet
colour.
d) The one who likes white
colour.
e) None of these
3. S4 is related to N1 and S3 is
related to N3, in the same way S5
1s related to?
a)NIb)N2 ¢)N4
d) N3e) None of these
4. Immediate neighbor of N1 faces
which person?
a) The one who like brown
colour
b) S5
¢) The one who like red colour
d) The one who like white colour
e) S2
5. Who among following likes
yellow colour?
a) S5
b) The one who sits one of the
corner.
¢) The one who sits third to left
of S3.
d) The person who faces pink
colour.
e) The person who is immediate
neighbor of one who like
white colour.

Directions (Q.No.6-7): Study the
following information carefully and
answer the questions given below:

Eight members are living in a
family. Tej is the only son of Arun.
Suma is wife of Uma. Suma is sister

of Tej and Rama. Vani is daughter in
law of Bharathi. Suri is son of Suma.
Bharathi is the mother of Te;.
6. How is Suri related to Rama?
a) Son b) Daughter
c) Nephew d) Niece
e) Can't be determined
7. How many male members are in
the family?
a) Four b) Five
c) Three d) Six
e) None of these

Directions (Q.No.8-10): Study
the following information carefully
and answer the questions given
below:

Point D is 14 m towards the West
of Point A. Point B is 4 m towards
the South of point D. Point F is 9 m
towards the South of point D. Point E
is 7 m towards the East of point B.
Point C is 4 m towards the North of
point E. Point G is 4 m towards the
South of point A.

8. Which of the following points
are in a straight line?

a)D,E, A b)E, G C

c)D,B,G

d)E,G B

e)F, B, C
9. A is in which direction with

respect to C?

a) East b) West

¢) North d) South

e) Cannot be determined
10. If a person walks 5 m towards

North from point F and then

takes a right turn, which of the

following points would he reach

first?
a) G b) D
c)E d A
e) C
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